(N

2)

4)

(6)

(7)

(8)

)

Ertanl Brglct 2tz gadlsze »udla dga ad- sllwad »ea g ?

(A) A=dlsza _ (B)"4d2

(C) REgls (D) Adlls52 s

2l i R-2020 3ot wou Raed g 467 -

() e E (B)3 413 +5

(C)5+3+3+4 4 (D)3 +3+4+5 _ s !

Qofuis [Rlae ex(Hait ddl A el Heisti 4 58 9 7
(A) UHIdR Yeuist (B) se-dlalBs yeuis

(C) -2y~ 514 YeAist (D) RS Hedls

(Bratseil azils el HeefHi 569 ouoid viasys <8l ?
(A) d81Es 1A sut (B) [Amyazg widdtddl

(C) £35 s1dui Frwalict (D) 215125 2R

‘Al [Baey - v S8 s e ?
(A)2uHl Rasi-ie (B) 2ll x12[Ae

(C) 2[a-s-ua 2otz (D) 24l

41200 6 4l 8 i 10 (821) Bari-il £5d2 Rt il e 541 extd il sl 2udl 8 ?
(A) AlY vieusHAl 3u3w- 2005 (B) Bael 21512 2EA4-2009

(©) ulu Bz IR-2020 (D) Braall 0l AR-1986
5125 Ao(HagIHl 56 i suirl wudn udl ol ?

(A) Bias - el i B (B) (21815 - wH1 2idBUL
€ Radll- Raell=ixBa (D) Rawll- 2wl vidBa
Azl 2 Al 5200 s2all MBI g 58 8 ?

(A) RIS A5 (B) ARBHLALS S

(C) Rzdna 529 ‘ (D) Heuis g

[Elaa 22 vt 213 Wt 3 HetaRell ad-iil udl e s sl 38R Raesl 2u el e
518 el ? :

(AR (B) L2 {0l

©alads > (D) wadld
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(10)

(11)

(14)

(15)

(16)

(17)

(18)

SiduRL usi-L B edlse™ie ..., w3l u2s .

(A) ¥cdAcll (B) »el :

(C)A¥AB | (D) Mot

D AN PR 1AL e (Sradl edi.

(A) M4t 2 & (B) 2-i™dl- Riam

(C) SRS AU (D) ALAY Gl 2 Y~

ioiLsA TRl Hirid Reut Rrgidi 2 W 58 w3Rud 21d & 7

(A) delHdl-l (B) 2t 1 seti-ll

(€) wilRs ' (D) As AR , |
qo{uisui Riees afly ol oeudl 28 L, IR HUE D ... £ i Yuilell HAAUF 2y
USIRALAUA B .oeeeenee 8. ' -

(A) 5[, weeiaL (B) Q*aoi[?ist, waeoyfist -

(C) 2usld, 2usR (D) 2152, WRad- |
............... Aed 3L 2t oflon 2 3l IRy 3 il AsHeL 52204 3 Al A3y
EELINEDT] :

(A) L (B) Mcdld~t

(C)ollag (D) Qg

slugl, erRagd, eugl o sa usr-dlugfail g ?

PNPECT (B) et ;
(C) elrs (D) 254 (& :

............... 228 @ well- @Ry via-Guidii-i Ayel AsA Ris sl geadl ulsa. ‘
(A) s (B) 9l i
(C)yulRusadl (D)AxAB

flaous vionell 3 . 2. 4L%. vogd s Fdl et AlFail -y géoriddl 2udl lal dl

ittt Aot vRuiet RuEil und 529 - d i Gelsa 8§ 7

(A) d@d+ci-l Azeu (B) Rulaizeu

(C) Al Biau : (D) s i 2yel Jzeu

29t Q1%L oLt s (sl dotssixL QL QYL Ao 551HL GUL9LS 2 R sfuse?
(A) &Ly @adadal |
(C) el 6uR 4y ' (Dysu axl ay
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19)  Rryrofla dusdl g1zl addl seis13l i 54t BlaRd Gersa s ?
(A) Huct 21 ofad Blae (B) 2[Bix Riaw
(C) 2l gzl [Blae (D) s (gl

(20)  cunsL [Qsie [Qeudil sa s ?
(A) "R (B) 2o
(C) AHauRSL (D) 2AHd d

(21) 156U el Rttt 28 B, el oig antdl udal d ydui 90 ¥l wd 8. 53 osell suyg aofl d 20
a8, el ouyg 530 d 30 L. WA B %l Al 51517 82 D Al W dett Ry -l R sie d
Grtz 125 100 1. 04 &. wuiell A=t Rl d 205 AAH HA D, cll d G5 Wit et Hz2diet
Bigell sea Hl. el wour ?

(A)90 L. (B) 100 L.

(C) 260 Hl. (D) 140 ¥{1.

(22) <12l giellal 5165 21s v oiy Gl el d Al 2kl
72, 75, 80, 83, 84, 87, 88, 89
(A) 72 (B) 83
(C) 88 (D) 89

23) H widRs UL 256" <L 28 “You are good’, 367 ~iL 2% We are good -1 358 «iL »#{ good and
bad cil ~{12-t3i2ll and ~il 513 3 &9 ?
(A)2 (B)S
)8 = (D)3

24) o sl dllu i naLs (B 23R iadl €l dl d o afui idsu B sut il viad ?
(A) Aar (B) ™4
(C)Hamalr (D) %44aR

25) Al A deal Bisia e ?
(A)25 ‘ (B) 30
©) 14 (D) 15
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- (26) Choose the correct sentence.
(A) He Sees he has made mistake. (B) He thinks that it will rain.

(C) He has done all that was necessary. (D) He says that he had decided to eat it.

(27)  Which one is the nearest meaning of the word “explain’ ?

(A) expand (B) describe

(C) teach ‘ (D) simplify -
(28)  Find out the correct spelling.

(A) stomuck (B) medicin

(C) headach (D) severe

(29)  Arrange the dialogue between two mosquitoes by selecting the appropriate order of sentences.
. Don’t miss the chance. 3
2. I' will not suck his blood.
3. This boy’s blood is very sweet; let’s attack.
4. Enjoy yourself, I have diabetes.
(A)4,2,3.1 (B8)1,3,4.2
2,4, 3,1 (D)3,2,1,4

(30)  Which sentence is not correct ?

(A) Jitu is my elder brother. (B) He is older than his sister.

(C)Manu is my eldest son. (D) He is the eldest boy in the famify.
Gl F . oiinnis the post office today.

(A)go (B) going to

(C)togo (D) goto

(32)  Choose the antonym of the word ‘rapidly’.

(A)slow (B) fast
(C) quickly . (D) slowly
(33) Banks will not provide you loan unless you .............cccooeeuuens them your original identity.
(A) provide (B) don’t provide
(C)provided " (D)willprovide
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|-

34)

L
wn
S

36)

(40)

(41)

(42)

|

Choose the synonym of the word “ancient’.

(A) very fast (B) very old

(C) angry (D)amazed
She has been playing the guitar ..........ccoeeeieens two hours.
(A) since (B) last

(C) yet ' (D) for

Thete IS cemasii-ameia in the lamp.

(A) weak (B) wick

(C) week (D) wake
...................... Swati ................... her homework regularly ?
(A) Do, do (B) Do, does
(C) Does, do : (D) Does, does

Select the proper word for underlined word.
- The eagle can see very far. It has sharp cyes.

(A)big (B) powerful
(C)beautiful (D) black
sl 2l v, 1A 2l AHY. 2L ASAAL USR CEICIR
(A) maudf disd (B) Qe awsy
C)rusufasy (D) UIE As4

A3 2ule A5l L4 wmd Adlys s34 89 7

(A)2udl (B) dal

(€)%l (D)% - a

syl Q3L A, dl euaHi QL Ay - A g st ?

(A) Hels (B) 2[2uxlaL

(C) $84ad : (D) dlnds ‘
il geaud Wi M9 uart Mg W B - sl 8a GuiRaue eudl.
(A) eluall (B)guS '
(C) »umat ’ ' (D) »uHd
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(43)

(44)

(43)

(46)

(47).

(48)

(49)

(50)

{1341 68 AL 5L SHHL sl

Aled, 51z, Acsiz, 2@, AFs

(A) AR, 2, ed, 1lsR, acsiz. (B) e, AR, ucsR, Aled, dlsR
(C)ucsiz, 2, dls, AMRs, died (D) ucs, AR, Aled, 2, s
Al viidl o sell siadl [@sew geudl.

(A) dl-tla (B) [-dl

(© [a-dl (D) [@ila

WelacilsS 2 gl wqaild s siopdl<L o ool 5l “ sigellanar - As el

(A) dlwsriz 21Uz (B) URedg ASIMUL i
(C) oilsuadg AZuld (D) #aAdledl

RS 222 24 At g1 WstBid A RS A4l 1A Ul 56 A8 dioy -l ?
(A) tdld [Qaneiast - seidai-e (B) Losct AUR A UG - 04[& U518

(C)d WRA vistedl - eyl (D) Al e wlRme -ue

4 2L yesuzes 5707 wesl 315 vieell AL BUAL AOUAAL 5.7 - AL UsHHL QuAG 3
gogdl wf aun? :

(A) @213l (B) %24l

(C)usill (D) eddl

2l 21061 U4 il 2Asell €ly ddl aoe 54l ? :

(A) a4 B)aay ]
(C) dl% (D) Rt

‘€2 Il 5128 Meid et Wl AL HUQ - AL M2l D5 Ak UL D ?

(A)u2udl (B) cdreradl

(C) 2eleua (D) gl

wlal Al GRId RRALA MEloL - 24l Sl dg s 58 7
(A) didlat 2udl, 2l Qe o1y, 53 aa s AS.

(B) GLML A%l : UL A5l Ruu 8.

(C) § $8cll &l - i oyl 4L 3 - 3 Al 2 o7

(D) st auR1dar 21 2106 (534) - wet a3y 2.
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(51 ‘[mqeedl Rax'-l Gyasll s wiy ® ?
(A) 2 AR ~ (B)SuewR

(C) 8 W) vl i (D) 17 4R

(52)  siiRerL s3L viqusedl oyl u uldeld Ysai 2094 8 7

(A) 298 - 19 (B) 24298 - 21

(C) x1q29¢ - 24 : © (D) ugAde - 25
(53)  ctircii Alefl ay Foiel quag usd 49 ?

(A) Bisim (B) *U2UE~3

(C)ulBryz (D) Haay

(54) il el ay axdl 22t wiadl Bredl sl & ?

(A) U¥s12 (B)yzd
(C) adlet (D) »iHeldle

(55)  2ulzarR{l @il RolaBol 2ol sut Breai diau 8 ?
(A)Eléle (B) dauHeld
(C) 3iat (D) ALe1518L
(56). [ERoodl ol Yoy &g 4 & ? '
(A) iRl Rz dlsiel 2uz1u-4l YuiR
(B) 2w [Azeiz- edisi-ll gousidl .
(C) a1dlo{l vt 1AL dlsivL 2a-HlRe Yrial
(D) Mlcll ¥y €3 il 6L Y £ H2L3Al
(37) Ty U L Yoy GRaL SR éug; we?
(A) yed sl 4ize 3 (B) 428t 1 2 2
(C) e 19l 3 (D)yyd sueBusell e 2

(58) [Azuell>imi culEs i [axc-weuats Eid- vllaqal mé GCERT gl 541 5145¥ vid2{d ual
WYQHL 219 9 ?

(A) Adl 121% sl

(B) Sl [As sidsy

(C) e1uR 20183 RS ¢l Jaeusi-2 i
(D) s 584 AN
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(39)

(60)

(61)

(62)

(63)

(64)

(65)

(66)

(67)

G-20 i st e Al ?

(A) dldst (B) UK

(C)USA ' (D) sl

gl [ae U 202041 Bi-dliba-ta Aoy e s HRel 42 yuug o 7
(A)dlzeL 64l 8 (B)Hize 1 2l 8 '
(C)HIReL3 ¢l 8 (D)4izaL 1 2l5

NER 24+t GER dee{ 0y 8 7 :

(A) GER <NER (B) GER <NER

(C)NER =GER (D)NER £ GER

NEP 2020 »ic2lct 3 National Assessment Center qHgs?
(A) W8l (PRAN) (B) 4w (PARAKH)

(C) -uzs (NASC) (D)aRs (SASC)

(21aerl Au-uale (Constructivism) Yoy syl y-lfasu-l e sl s ?
(A) dLads ' (B) wadia

(C) dleeR ; : (D) Yl

&ttt 3L (L4t (MLIL-Minimum Level of | «carning) A4 541 Raeus{ld A AusG 9 ?
(A) Brageus sist ; (B)%. guayld

(C) Bt 35 3301 (D) ell-weus ed

3ctril 541 Breauviin Alell 9y dig st 2udal s ?

(A orusisl (B) %213
(C) »Heldle _ (D) yRd
Gordpeieg Wil U 8] e ?

(A) 44535 | (B) A~
(C) aallial - (D) »talwist

eRdAlX Q4L At ey [Ral 2R 28l 518 53 sdl?
(A) Sl ARAe-e Rimst (B) L. ofl. 2412, 2Hiol3532

(C) 4L Hldll 2105¢ selH (Dyell. 9.
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(68) [suci1ge?
(A) 10 Kms 3 (B) ¥Rl ELs, 252101
(C) 10 25 w7t Bes da=e-ll uQuBial (D) cuage
(69)  “ourstil s Hdia Faas 28 2in sl g adl a-Reyfad e 5397, U Ge 59
YLl 89 ? : _
(A) unadl dix-u (B) Wa20¥ 4%l
(C) AHA ULH YAAA Y%L (D) dlelaux 4oL
(70)  Setian dicg-l 59 ouoid A Asnda s ?
(A) BEd 2 3 2R ™Ha-dle (B) arasig s
(C) 2atadl-tl Mgy [Qs ' (D) 2@l dled Hasiz yauHl Qs
(71)  wLRsdl (dsiia) REAs gL -watRsdl 2RFAUHAHL A s 20dd, 2 28 531
¥ alaaimi »uad ?
(A)2021 (B)2018
(C) 2020 (D)2019
(72) 515 @5t uoudl Hu-ett wiedl Wil el oie wel o Adiadl €ld d Ralaui seal 3u esHl
A2l RTE Act-2009 i s2aHi 2>1da 69 7
(A) 3L. 50,000/~ (B) 3. 1,00,000/-
(C) 3L. 75,000/~ (D) 31. 20,000/-
(73)  RTE Act-2009 L 58 se [ Asau- 3891 A%l 244 @[5 0azil 733 REa 21 wdfesl
YAl S A5 245 5348 7
(A)33 (B) 38
(C)35 g (D) 34
(74) Wy Riae Q-2020 trfauz su A el yd sl ada wuafs Qewt yHl 1007 suast
AL UAY HNA A @8 AMAHL 2084 8 7
(A)2029 (B) 2028
(C) 2035 (D)2030
(75)  MOOC i g Brojaaimi »ud 6 ?
(A) 2lidend-t ulau uala (B) 2l [Rias aidl
(C) AHUYS 2ALAALDH MeUUSH (D) cusd21 glzl Rlae
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[Qeuat - 2 sl

(76)  2UUe aAlsHlMl WiBd s3a aoe-l vilél Al sludd asu 548 7
(A) 5904l GglR 52l A YriRaR seaid. (B) Acd Rauxiall yat g5l

(C) ol Bigl as? Slaell Qo 84 Wi (D) 3 2530340 wellvil- vie Al
(77)  MSUMIGL, HIM 247 YU - 241 2AY ootd)l @) Widl €1y dal @iy k.

A& - (B)%

©)& | (D)%

(78)  uldl atsAlAl il 2oei Azt usR sulda 8, d 2R3 w0l Rsa s 8 ?
(A) 34l rvidi weai Al el auefla. - geaius dsu

(B) H2tell 54 dl ar =@ 4 Ui, - cuaqiys Asu
(C) A a1 vt {13l - eiFrias st
(D) A8 5165 Rzt 2437 2034 oS diset 54 €l dd 3 210 . - Baiaius s

(79) Wl ARRAUS €l ddl Rsey sai 9 ?
(A) videdwd = 2id: + v (B) Ryl = Ry + GR

(C) AdlaL = 4 + {13l (D) 240% = 0, + %

(80) ‘GAML AR Al %28 aofl ad Y A’ - steiFrni auA R’ usell e g ?

(A) "3l (B) Hlctl-[Ucl
(C) A%+t (D) Gex
(81)  udal arsHiHi 4 sy ‘sdRasu’ 97
(A) Deflefl 22 ussiAl. (B) 281 dact % siFu2d vl 2l
(C) § O % cuvidl wusS sl (D) el -l sued 9.

(82)  30zudlaL 2 deit el efext vilel [Asey sul 8 ?
(A) UeN FG Het 539 - U~ ol od  (B) Hid 539 - €4

(C) Wadl sl - 8-t 539 (D) Aledl andl - g5 g

(83) ‘asleiond 3u 3231 Ay, Hetd o R . - w AusuHi il s2d e Ravedl sdl
usRY? :
(A)dRaus Qave (B) Aoinaixs [Adve
(C) ual-ulis Rive (D) Avaaias [Qdus
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4) e vlavudl : ‘oflog wig tTL 2, 6% B H gL, 5IA Wint YU Mictietl 5241 4.
(A) wgalRsRq (B) A4
(C) aiclaast (D) ¥elsleil
5) el sl Wl sy sy ‘R asy’' 8 ?
(A) DL, 2ALo1Hl SIHRYL6UR 5131, - (B) dHIR xuaR sl dd addl wsdl.
(C) g, %L uvil @l dl. (D) 23, WA o2 2adl | 3G Wl |
6) ‘sl 29y wlE M uion 513 530 LB, dd HA AL 8.’ - Gl5L Bt woel
eq (A2l eudl.
(A)A+E+3+U+Y4+ 2 B)A+g+3+o+U+Y +
(C)u+g+3+2+Y+Y D)2+ +%8 + 4 +d+3
87) (A 2004l RQaurlal vt [Qui quadi {asey geudl.
(A) (e [Feirtl Wty % - o e A8 AL ¥ @vid.
(B) e medl Fl 51203 ernadt -uHy(l wedl 92t aviy.
(C) ‘Y’ [utd % - o well madLavuy.
(D) ‘dl’ Ayt % - d wedl » e dviy.
88)  ~(l3A-11 U4l st 10e{l - YlHUd i YUY - oA @Rl a8 ?
(A) dRe&1%R (B) 3419
(C)>R[As (D) sladL
89) “xflea wiell-ll vl @S Ao opar sl wDUict Sl Ws1R eudl.
(A) *lam ged (B) doius s6d
(C) e ;i‘.& (D) $cay g€
(90) % ¢9153 AL & %RAL i AL, U ALSH-AL U512 wRudl.
(A)AYsd alsd (B) HIE A5
(C) Mz ausy k (D) GgAUR LSy
(91) 1€l ! 2a-i2a & Rarar] ! 2uld asysi Geauras -l sdl SR A 1A S 7
(A) s¥aias GgauR (B) dolla-taas GgauR :
(C) uaalus GgAUR ‘ (D) Riaals Ggaur
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92)

(93)

(94)

(95)

(96)

97

(98)

(99)

(100)

YEAIHS 2 20145 S USIR D ?

(A) A4lrs (B) 4Ed

(C) Uy D) [Aana

‘o synefl WAl 518l ALMAIR’ - 1L LR 32 D5 A6E L. ‘

(A) Rsdes (B) Gxdes _ '

(C) Gevists (D) G+ds |

BiL 5419 a7

SLPLILSLL, AAEEAAUL, SUEASLL AULERLLLL

(A) et : (B) RuwRell

(C)yedl ' ~ (D)sRalla

sl 910e UER 2l ?

(A)arRd (B) [@Asal .

(C) a2 (D) Q312

Bl vegetables everyday. Put proper verb form in the blank.

(A) bring (B) brings

(C) brought (D) is bringing

I always find her responsible. Find out antonym for the underlined word.

(A) unresponsible 3 (B) inresponsible

(C) ilresponsible (D) irresponsible

L not to feed the animals. Fill in the blank with proper word or group of .a.'vords

(A) request (B) are requested

(C) isrequested (D) requested
........................ refers to a way of teaching a language, which is based on systematic principles and
procedures ' ‘
(A) Approach (B) Technique

(C) Skill (D) Method

“The spoken aspect is neglected; reading aloud is encouraged : which method is this 2°

(A) GM]‘mslaﬁon (B) Direct

(C) Bilingual - (D) Communi'c;uive
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(101)

(102)

(103)

(104)

(105)

(106)

(107)

" (109)

F

H08) ..ov

Amit went home gg_@&_c_rg& Select proper qﬁcstion for the underlined words.

(A) Why did Amit went home ? (B) Why did Amit go hbmé T

(C) Why do Amit going home ? (D) Why do Amit gone home ?

Shc lIVES ..ocsmsivirmss Ahmedabad. She owns ahouse ......coeuvienes the Sabarmati river. Put proper
pair of prepositions.

(A)in,on (B)at.on

(C)in,at (D)at.in

e will never help you. Identify the underlined word.

(A) Noun ; (B) Adverb

(C) Adjective (D) Conjunction

We havestill ........ e money left in the bank.

(A)aliule : (B)afew

(O) little ' (D) few

....................... tests the learner’s ability to apply what he/ she knows or has learnt to real
situation. '

(A) Proficiency Test (B) Achievement Test
(C) Placement Test (D) Diagnosiic Test

If the doctor had arrived in time, the patient’s life .....o..oeeveeeee. saved.
Fill in the blank with proper verb. ]

(A) have (B) have been

(C)will have (D) would have been

Choose the synonym for the word : Forbidden
(A) Forgiven (B) Dismissed
(C) Fired . (D) Not allowed

v, Suggests the path to be followed whilc teaching skills.

(A) SLRW (B) LSWR
(C) LSRW , (D)RWLS
TherearSiaic s specch sounds in English lanaguage.
(A)24 % (B) 44

(€)2 (D) 40
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(110).

(111)

(112)

(113)

(114)

(115)

(116)

(117)

Yamuna is one of the longest ... in India. Put a proper word in the blan k.
(A) river (B)river’s -
(C)rivers ( I)? riveres

Give one word for the phrase *A study of birds’.

(A) Zoology ‘ 7 (B) !-Zlgmology
(C) Ethnology (D) Omithology
TR your shoes before you enter the room.
(A)take in ' (B) take ouf
(C) take off ' (D) take for

Join the following sentences. Select the proper option.
- Ram visits library at 5 pm.
- Shyam visits library at 5 pm.

(A) Ram and Shyam visits library at 5 pm. (B) Both Ram and Shyam visit library at 5 pm.
(C) Both Ram and Shyam visits library at 5 pm. (D) Ram and Shyam both visits library at 5 pm.-

Which pair is not correctly coupled ?
(A) vibrant - lively ' (B) alluring - precious
(C) splendid - impressive (D) enchanting - plcasant

Tick mark the errorless sentence.

(A) Riyais more intelligent than all of her sisters.
(B) Riyaisthe most intelligent of all another sisters.
(C) Riya is more intelligent than any of her sisters.

(D) Riya is so intelligent as no other sister of her.

=1 F T WS wgEi |

(A) T3 - o (B) B - FEwT

(C) W - HeT (D) TATE - 37reen
‘H'fwﬂ_zm"mawéaﬁqﬁqa _

(A fafqaem (B) 9o=13i =1 9571 | 39
(C) ¥=at B (D) 3faen & g
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(118) V=oHE  folL T oIt & g & 7Toid feg SA-w1 8?2

(A) U2 F 918 0% Hae - JIeER  (B) 998 B qHH - %

(C) WM & e 1 90 - de@Ml (D) SN AEre ¥ faear - wue
(119) o 9ftad= =i Terd Sirs ge=e |

(A) foeeft - faeame (B) 531 - $H

(C) |reTl - Helgw (D) 3wt - Tt
(120) =5ga<q | Ygad fod SHare Wsg Te=d |

(A) T | (B) T

(C) 9ro EE

(121) g faum & seares 9@ = @ g g ?
(A) ST=2TEA1 %1 TeW U 3R 0T H &1 |

(B) 99w "SI § fad sAga e €
(C) Bl 1 19 Fer@reel W A &1 =fen
(D) 7 %1 e sfuw
(122) q$ 94 YedIT |
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